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= Example lecture 5.2. Repeated integration with integral3.
= Simpler alternative with triplequad (much less accurate)

» Integral3 cannot handle this for some reason.

Example lecture 5.2. Repeated integration with integral3.

format long

xmin = 0;

xmax = 2;

ymin = 0;

ymax = @(x) sqgrt(4 - x.72);
zmin = 0;

zmax = @(x,y) 4 - x.72 - y."2;

f=Q(x,y,2) Xx;

I=integral3(f,xmin,xmax,ymin,ymax,zmin, zmax)
Iexact=64/15

4.266666666666317

Texact =

4.266666666666667

Simpler alternative with triplequad (much less accurate)

ff=@(x,y,2) (X.*( 2z2<= 4-x."2-y."2) );
IT=triplequad(f£f,0,2,0,2,0,4)

IT

4.266558675930201

Integral3 cannot handle this for some reason.

ff=@(x,y,2) (X.*( 2<= 4-x.72-y."2) );
III=integral3(f£f,0,2,0,2,0,4)

Warning: Reached the maximum number of function
evaluations (10000). The result fails the global
error test.

Warning: The integration was unsuccessful.

IIT =


file:///Users/stig/Undervisning/mve255/1415/matlab/stig/html/example_lec5_2.html#1
file:///Users/stig/Undervisning/mve255/1415/matlab/stig/html/example_lec5_2.html#2
file:///Users/stig/Undervisning/mve255/1415/matlab/stig/html/example_lec5_2.html#3

NaN
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